
Subtracting Decimals | Thousandths

Horizontal: S2

3) 4)65.986593.145 – = 37.954 – =10.392

5) 6)596.531990.531 – = 415.205 – =3.274

1) 2)0.32517.092 – = 785.426 – =219.047
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9)

8)

7)

a) b) c) 5.958 ounces3.958 ounces 4.958 ounces

a) b) c) 3.384 tons4 tons 3.484 tons

a) b) c) 3.876 pounds4.433 pounds 5.365 pounds

Soren bought 15.672 pounds of chicken breast. After trimming o! the fat, the

lean chicken breast weighs 11.239. How much fat does the chicken breast have?

The engineer purchased 6.529 tons of steel rod for a couple of projects. After

the construction of a single project, he realized that 3.145 tons were used.

How many tons of steel rod are left for other projects?

Alex bought 32.451 ounces of pasta last month and 27.493 ounces this month.

How much more did he buy last month?
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